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1.

HTHT T
GENERAL KNOWLEDGE

T hifed qeahr AT 1 g 3w feforfad § 9 wa-ar g ?
(A) ATTreRTICER Tt | fewdt < SRINT ot STedTfed SRt

(B) ATTIRTIR Tt § TSI ol TcaTied T

(C) WA T &t 13T shl STaT <A

(D) Tt = it = T

Which of the following is the main objective of the Rajbhasha Kirti Puraskar Yojana ?

(A) To encourage the use of Hindi in official work

(B) To encourage English in official work

(C) To Promote regional languages in India

(D) To honour Hindi poets

3Icqd e ferm e wmeey feRa T 7

In which year was the UTSAV portal launched ?

(A) 2024 (B) 2023 (C) 2020 (D) 2022

Tef — | 31 gt — 11 o e gafera ifsre qen g & e e e e @ wd s g |
Tt -1 T -1l
() (IT)

a. IWOE 3Tfem |. 3T ATh T [

b. fortor 3T II. T 3RfeH AT afe

c. 3TeYd U lll. T =]TE TR

d. oft. TH. It IV. T H &2

%c:

(A a=l,b=1lll,c=Il,d=IV (Ba—Ill,b—1Il,c=1I,d=IV
(C) a=Il,b=1IV,c—1I,d=1ll (D)a—IV,b—1,c—1Il,d—1I

Match List — | with List — 1l and select the correct answer from the code given below the lists.

List -1 List -1l
(Author) (Book)
a. Arwind Adiga I. The God of Small Things
b. Kiran Desai Il. The Inheritance of Loss
c. Arundhati Roy Ill. The White Tiger
d. V. S. Naipaul IV. In a Free State
Code :
(A) a=Lb=Ill,c=1l,d=1V B) a=ll,b=1l,c=1,d=1V
(C) a-ll,b=1V,c—=1I,d=-1l (D) a=1IV,b-=1,c=lll,d=1l
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4. HF-H IR FEOET, 2024 H F. 20 ARG FAUS T TSR G150 BRI i ATel TR T8t
SHEQ] & T 7

Which Indian company became the first Indian company to achieve a market capitalization of Rs. 20 lakh

crore in 2024 ?

(A) Reliance Industries
(B) T.C.S.

(C) HDFC Bank

(D) Adani Enterprises

5. R GRIEER 3US1 o 3cured o fore AR ufeg 8 7

(A) ST (B) weft

(C) g (D) uf
Nagaur is famous for the production of which aromatic crop ?

(A) Cumin seeds (B) Fenugreek
(C) Garlic (D) Coriander

6. A 1 TEAT IH: AT BIS(oIS Uehe BT -1 F&ITua foram

India’s first reusable hybrid rocket Rhumi-1 was launched on
(A) December 31, 2024
(B) December 04, 2024
(C) September 04, 2024

(D) August 24, 2024



5

7. T — | B I - 11 % Ty gaferd hifsTe den gt o = fiu T e @ wd swm g |

Tt - | Tt -1l

(g Tarvateramer) (FoT)
a. TdEW g favaforme™ |. I
b. TSl GuTS=g S gard farvafaeme II. SHIcTshTa
c. IYAM WETHR g fovafaeme™ . foamag
d. 9. gotardt i ged favafermes V. ST
%< :
(A) a=IV,b—Illl,c=1Il,d=1 (B)a—Ill,b—Il,c—1IV,d—I
(C) a=ll,b—1l,c—IV,d=1ll (D)a—IV,b—Il,c—1I,d—1ll

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1 List -1l
(Open University) (Place)

a. Global Open University I. Kota
b. Netaji Subhashchandra Bose II. Kolkata

Open University

c. Vardhman Mahaveer [ll. Bilaspur
Open University

d. Pt. Sundarlal Sharma IV. Dimapur
Open University

Code :
(A) a—IV,b=1lll,c=1l,d=1 (B)a-ll,b—Il,c—1V,d-1I
(C) a-IL,b=lc=1IV,d=1ll (D)a=1IV,b=Il,c—=1,d-1l

8. TTH H i TI1&T o1 Teh ST STHHT Al 2 & 7

(A) THER (B) €Ha™

(C) HmHT= T (D) @fiie weemd
Which one of the following is not a source of informal agency of education ?
(A) The family (B) The community

(C) General games (D) Religious institutions
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9.

10.

71 Rl TR TgH | IR E I[E Shleh G TEd hifeTT |
. STIE HET T =8
1. sme farfyr
1. 3N 3L
IV. 3fishel ol T
= fau e e # @ T S|
%l
(A) LIV, (B) L 1v, 1,1
(C) L, 1, Iv, 1 (D) 1, 10,11, v
Arrange the following from beginning in a sequence.
I. Selection of research problem
Il. Method of research
Ill. Objective of research

IV. Data collection
Choose the correct answer from the code given below :

Code :
(A) L1, 1v, I (B) I 1v, 1,1
(C) I, N, Iv, 1 (D) L, v

=t 31 e & R © Tk 1 STfERe (A) AT S8R i RO (R) R TS |

TR (A) : TH. 37T TR TH. Teh LfohT JUTTert & T8 9T SRR ok fR1eq Hamer™ 4 2015 0 &
o |

HIOT (R) : T3S AT, 1 3e3¥ fofor=1 AToeuei o ST1er o 9itd @ H 3= f31e geami o
foaer 3R aresft gooieha o= FE R |

<

(A) (A) 3 (R) 3T T & 3 (R) , (A) T TET AT LT 2

(B) (A) 3R (R) aHI T § g (R) , (A) =T Tt AT T ot 2

©) (A) W%W ) TAd &

(D) (A) 7TTd & W (R) T &

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : The NIRF is a ranking system introduced by the Ministry of Education,
Govt. of India in 2015.

Reason (R) : NIRF aims to provide a fair and transparent assessment of higher education
institution across India based on various parameters.

Select the correct answer from the code given below :
Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true
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11.

12.

13.

14.

e 8 fort et wfarfe o @ 3w s E 7
a. SHTREAT o TR W T WA |

b. TS afoTTHt S wfraToft S |

c. TTESR GL&T QT |

d. TR R T | gfg |

= fou T e ® @ T W g

& :

(A) Fd a, b, ¢ (B) ad a, ¢, d
(C) Had ¢, b (D) & b, d

What are the major uses of Big Data Analytics in governance ?
a. Tracking the spread of diseases.

b. Predicting election outcomes.

c. Enhancing cyber security.

d. Increasing govt. tax revenue.

Choose the correct answer from the code given below :

Code :

(A) a, b, conly (B) a, c, donly

(C) c,bonly (D) b, donly

SEH I WiauTied FTedeh Sféren Sevan 8 fmferfaa & @ wim aftifera 78 2 7

(A) Y (B) TR (C) Torzamor (D) =TIEAT

Which of the following is not included in the cognitive educational objective proposed by Bloom ?

(A) Comprehension (B) Application (C) Analysis (D) Organization

fmforfigd 8 @ o -91 te oA, 6., JurTedt s Tew e © 7
(A) BTEIW (B) TTHIR (C) = (D) ST TEX

Which of the following is not a component of an ICT system ?

(A) Hardware (B) Software (C) Information (D) Biometric sensors
TR T A S 36k Fmior % e S Y STt ®, e 8
(A) TR 3 TH (B) ST TH () fismaits (D) IR

The memory of the computer which is programmed at the time of its manufacturing is called as
(A) ROM (B) RAM (C) PROM (D) EPROM
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15.

16.

17.

18.

=1 & @ 0w b gigman (Ters) s T 2 7

(A) T = ®R (B) Siferft

(C) FSE (D) ¥ St
Which one of the following is not an Artificial Intelligence(Al) tool ?

(A) Google Play Store (B) Gemini

(C) Claude (D) Chat GPT
frferfiaa o & %19 771 JgwT 1 HR0T & ?

(A) 3T (B) TlETA (C) Tfag-awt
Which of the following is the cause of soil pollution ?

(A) Ozone (B) Aerosol (C) Acid-rain
“fafeses g’ W @

(A) ST G HT (B) TfAHT a1 T
(C) U= a= Rl (D) &S T H
“Limbic system” is part of

(A) Reproductive system (B) Nervous system
(C) Digestive system (D) Excretory system

Frafefaa @ @ = wRa § 31 fiGsR 2024 9 TR T & 7
a. FRGU ISiE SN0

b. THTG F

C. Waﬂ'@tﬁ&f

d. GeaHR T Fer

e

a. Bakhira Wildlife Sanctuary
b. Ramgarh Lake

¢. Sundarban Wetland

d. Sultanpur National Park

Choose the correct answer from the code given below :
Code :

(A) aandbonly (B) b, canddonly
(C) a,b,candd (D) aandconly

(A) ad a 3 b (B) e b, ¢ 3 d
(C) a,b,c3d (D) Tt a 3R ¢

Which of the following is a Ramsar site in India as on December 31, 2024 ?

(D) T

(D) Smog



19.

20.

21.

22.

23.

24.

‘o feera 2

(A) 3USHH T (B) Fem o (C) AT T (D BEIEEIRE
‘Barren’ Island is situated in

(A) Andaman (B) Nicobar (C) Lakshadweep (D) Minicoy

HTOTIeh STl T, P 3hl TATOAT el g5 off 7

In which year Atomic Energy Institute, Trombay was established ?

(A) 1948 (B) 1950 (C) 1952 (D) 1954

el SR T U@ TS o A1 o Sig 08 T3 § | Tl Sfiet ol gA1E iy |
AT ] Tore T~

1. I IR - eI

2. fRq Jecve - frga

3. U ATE — e

4. GLER - IATIIT

(A) 127 (B) 1T 4T §
(C) 2wd 34 T (D) 2Td 4T

Ramsar sites and name of states paired below. Choose the correct pair.

Ramsar Site State

1. Sakya Sagar —  Madhya Pradesh

2. Sirpur Wetland —  Tripura

3. Pala Wetland —  Meghalaya

4. Sur Sarovar —  Uttar Pradesh
(A) 1 and 2 are correct (B) 1 and 4 are correct
(C) 2 and 3 are correct (D) 2 and 4 are correct
Torm wrfirera o Frefier Td TrE gFl 1 3 A 8 Sooid fieran g 7
(A) ST T (B) UgIct ywIfed
(C) e fiyerE (D) foradt wqey erfiera

In which inscription both Kalidas and Bharavi are mentioned by their names ?
(A) Prayag Prashasti (B) Aihole Prashasti
(C) Ayodhya Inscription (D) Bhitari Pillar Inscription
afeqor srhieRt § S Torsie o ww TSt st STISt < T H Sl -dt et & it oft 7
(A) FA (B) TSI (C) T " (D) HSR
Which rank was given to Gandhiji in British Army at the time of Julu Revolt in South Africa ?
(A) Colonel (B) Sergeant (C) Sergeant Major (D) Major
‘SreATn TR sy | Tt e off ?
(A) e (B) TH (©) sreht (D) 3¢
In which language was ‘Babarnama’ written ?
(A) Persian (B) Turkish (C) Arabic (D) Urdu



25.

26.

27.

28.

29.

30.

SHfEa aTf=reRt 31 STETRON i 3eaf g3

(A) sTefern | (B) W

(C) T T M § (D) T3S fohrem |
The concept of Public Interest Litigation was originated in

(A) Australia (B) India

(C) United States of America (D) United Kingdom (U.K.)
GlAET T 1 T2 SARER T hal SIS g1 o1 ?

(A) 16 3TTEd 1947 (B) 26 SHa{ 1947

(C) 09 fewsm 1946 (D) 26 TTEsR 1946
When was the first session of Constitutional Assembly held ?

(A) 16t August 1947 (B) 26t January 1947
(C) 09" December 1946 (D) 26! November 1946

IRA o Giae™ § FHfaiad § 8 -1 Tgose J9% Halsi 8 gafid 8 7
(A) STITRT 324 (B) 3TT=T 325 (C) 31=33 326 (D) 3T 327

Which one of the following Articles of Constitution of India deals with adult suffrage ?

(A) Article 324 (B) Article 325 (C) Article 326 (D) Article 327
e IcaTed H T o1 fovd § -8 T 8 7

(A) o (8) feefta (C) T (D) =gd
What is the rank of India in the world in rice production ?

(A) 1st (B) ond (C) 3rd (D) 4th

0. 0.3, (P.L.I.) Sh e U & @ gefiq T8 2 7

(A) s fafmior (B) TS 3T

() Tafercan susor (D) 3uled | B IS T

PLI scheme is not related to which one of the following ?

(A) Mobile manufacturing (B) Automobile industry

(C) Medical devices (D) None of the above

A § Tl o 9v=Td {0 IR 3l AT 3 1 TR 3e39 o1

(A) e feramt st fir ot Ao (B) ST AHIT hl F@Tall T

(C) Y TN Al TredTld LT (D) Wt v N offer w1 Fsfieror
The primary objective of land reform in India implemented in the Post Independence was
(A) Redistribution of land to landless farmer (B) To promote real estate

(C) Promotion of agro industries (D) Privatization of agricultural land for cultivation

07



oot ot &G 2

1

.éd,c&]g(yligulgzdfdl & J.'.J;s-«g sl e [j#»ﬁuﬁd; 32

& YU U ! 51”4909;17 g
IS W J’” % UsilsT J UL O G bl 1D
cwdhfe € 65 o

‘ébléuida)m‘ébﬁ&’% (B)
P A AT
4—5&3://4_2156% (D)

Ve Sed
sIAFe (A)
sIAFY (B)
s IAF9 (€)

SIA¥I (D)

-10-

07



& Ayl o 34
“!QKU]ja

ISl NG
ol §2s e w” (B)

3Z ¥ (©

s )

sc:-c‘-dmm}f'”&uww’(c“—uful 35
S )

g& (@)

A

Il (©)

g+ ()

ce W ¥l E L Frga s

— (A

& ©
&> (D)

-11- 07



s Iz a.ukwwwp.' 037

Jb o e (A

o U o (B)
d2 % (©

STy £ D)

éd}«w 5J~=«lﬁé; ol UFEU U Udn sl 38
S S (A
£ Py, 2 F ®
$ & 7 (©)
3 #JF

ﬁf‘fgufjn J(";Ur,g:;'/r/'dij‘ 39
wET®

GGk (B)

mEESS (©)

ey D)

-12-

07



oF Brreis S pe o P F st i Lot Jie F otk a0
Gi (A
& @
Gy (©
L (D)

d/diéfd/lg/w;;g/;;; d)d/:;g/uﬂ;u"dfi/:;/'j 41
i;b//l.ﬁu(d,u:kb@/,/ﬁz
Bl
§s ®)

28 ©
STl )

G MU/JK'U/&/“"A' L A2
G b (A)
d.s ®
¢~ (©

g’I¥ (D)

-13-

07



S S

sMod  (A)
s Moo (B)
AN (®))
s~ (D)
. /“ .
(e Veu Y i

<7 (A
S~ (B)

U (©

ox? (D)

s WL b i B bl 5§ e
S H AT

$2d s @)

Fs s ()

$F w2y (D)

ce VULl 8 Uit 8 e
gl f A

205 ©

& 2 (©)

g D)

-14-

43

44

45

46



gu7 U J“Jr@@ét{ff,bm,é 47

sIne (A)
s IAF (B)
A4 (C)

s IAN (D)

s Weds (odl a8
ey (@A)
S ol (B)
1, (C)
k. D

9 y(l;l Js ﬂL U'/Uf rl,;’é é/‘{’/»%) L 49
sy A

Miff (B)
13 utul? (C)
d)‘s?ﬂ) (D)

G tfy(/,f'/f¢ JL’"VIL ] uﬂLé‘dfufd{vﬁu/¢wdseu 50

S (A)
o U (B)

S ©
WSE Y o

-15-



& UJU/VCKU/&" d/wi Jm 51

I G
ENING)

S L ()

A o)

e § Uh PG e s 5
tsE @
L B (B)
Ehe i (©)

s %/ (D)

‘EQ—UJLJ{ng-?C}%/ﬂﬁjéLj’j'gg/}'b"f“’bclﬂd:éj({})/ir:ﬁ 53

R0
Jb o e (B)
U sl (C)
WSl D)
G & YU u’(_’wb;'ﬂ &1’7&/”/? 54
gL (A)
G

-16-

07



ce U T i s 6 s

)

(P b L £/2&¢or/ulimgfmal/ﬁ¢ S S 56
20w 9 B8 o Te o 0

G JKJ¢VCKJ/¢JL9UL oJ’(L

=B, L (B

Y- s JJ("J,G/Jﬂdal/” 57
& ®
3tz = (@)
g~ pisl (©)

& 2 (D)

-17-

07



G ..L‘(d’/ Enl 58
P e b € e ()
el ek GATE N B)
ot E 5 ) L (©)

4«/~ K b S édl‘ (D)

s oA KT u'(”d; kG 59
GFE (A)
I (=)

U ()

s i S S

e s )
Q7 = (B)

B = 5 ()

J;.}"’T sl (D)

G- lag,JL’n’fd_uly'yé"uﬁ'} LJIJ;IU"‘J;VWLJ{C— Sl el

-18-

w7 (A)
e @)

¥ ©
T 2 (D)

07



P lo/u’(w// JpT" 62

ST (A

e Wi Lk vy J
Fao el 22 ()
G =S¥ (g)
7 g7 sl (C)

S A o)

§ O O MrhIf Tl ) e Y 64
Sk »

oAU Ut B)

2 sl FL(©)
e & (D)

-19-



oy U it P

S B
Lzl 76 (B)
uﬁJ Jhl (©)
& o

IS ST
s19F  (A)
190 (B)
(1981 (C)

¢194- (D)

B s &5 L o5}
Lk S @A)

& il U K (B)
Lb"jjf‘:./;‘ (C)

&8 o)

s gfrt N l{"aéug’,i" O Ul i L
£Em

gy (8)

£ A ©

zérbﬁ (D)

-20-

.65

.66

.67

.68

07



s T P L gl Yl 69

=ik ()
£ LJ®
o ©

3l &/ )

G )';/b/r‘_’f;’ deu:’ ol ""'/TJ;" 70
&S G @)
JS7F ! (B)
Jb® (C)

S 0

sf}ﬁ WJ‘WMI” J&L' 71
sInFe (A)
. IAl (B)
sINY+ (C)

sIAQY (D)

ch_l/ﬁ’/hni/md;)bé;ﬁufé_ﬁ év S et § 4 K;gd‘"d,b 7
oK w

&l (B)
2w ©)
}"u —y (D)

-21-



st (e L s L S Py
)

by &1y @)
J» (C)

v (D)

U;JJﬁd%QU:UC‘g/UQIJU| 74
s U2 s € U

Sa b sl @
Si 0SS L Bt o @)
St WS 40 b o ()

Sa oSG Gk o (D)

quCt; ((fﬁu:z./}i/uj‘wwé/’ 75

-292.

07



RS
Sl ed § s botr ol &5 L B T e peLofvwbnl 16
c e S LS By e 501 2 Ul &S gl 7 e
&4 @)
§I¥  (B)
Sl ()

by (D)

e Gt (ol s 7
e L B

e e (B)

& Pl L5 u‘a’)'/yu (C)
& ol bl s (D)
WV LS 2N E D PSS o e 38
Je & @
0'5‘&0&7'5 (B)
gl 2o (C)
ol gD~ (D)

W e F st S L gy M

-23-

07



e Ve 5w S5 w80
,f”/l?; (A)

Skt enls (B)

&lgds ()

Fod D

P
<Ll ié—; ye L &Zigﬂn ‘dij) ey e U9 Wb kg - O bl 2y O g 8l
-gdgu—’({vﬁ’ {&u:

PR R P (T NS

B u B, A e LU S
cudsdnfe € b5 @

JELE U Jf} sl %5 (B)
4—5&&3;&/!;4_&&% ()

& Ui ol 555 D)

-24- 07



TP ufujz_Jgéu:guﬁ/ 82
fap & 38 e s e L A b o o LS G

Jyp el GuF
7 (A

SFTE B

Sl ©

Feené (D)

QQ/LU/GWK¢52—JU2~L¢|»'gv@ng:’/d}U/bé/u:{_/ 83

A2 (A

w7 ®)
F L (©
Ut Gfﬁuful (D)

Wl SLS pa e E I

-25-

07



t»%,?’g.‘ag.@,"ué‘ 85

e i el o

s W e d Lt L o
& @)

s Pl o b/uf"("b}i;" 86
S B

» iy @

Syl & (©
$& U D)

g § /q)JKZyJU&MWOJU/JJ/}r:%J .87

AU (A

At B

duff (C)
Lﬂ@féufui (D)

-26-

07



s U eengf e U L3l 88
Bless - WL E W
Ao gwdh®
Bals - oS8 (©)

v - S o

g Gy e s L Ut U’(¢JJ s 89
U e Jer VS A
u“é@ (“L Nk it UQ
T sl (a)
(g
gk sl ()

Us U (D)

GU;.L;(UV? lfC—/ol.:-’f é—i,’, Lb 2_}7 ;;ié e ulf* uf’| 90

-27- 07



= “L(rb L JyLﬁ' ¥ 'L,,/':‘_/fi <l GG o
Qb = (A)
F ®
SV EJx ©
Fel P D)
e Prol S P S =
P It IR
PSP @)
FA 8 ©

uy'/‘g«'aﬁ“i (D)

(I r e PG f 5 o

&k (A)

-28-

07



el POl

ﬁcj_;;fydvmu/Kuy.(L‘u:/ﬁm
N

s oh 5P e
At (A

SN @

Lipd (€

A= (D)

§ A A e Jr LE
s W/ Je ¥ 2 U

A (A)

3} @

2 (©

J% (D)

-29-

.95

.96

07



G e Y& ol J/&L’jt{ﬂi' 97
ek (A)

iz b (B)
Ol 2 ()

SNy, (D)

1% L/(rt G',Q! 6Bl b 98
o el F a)
U ueh e (B)

b s 2

- oeh o)

= Lfgib‘«l € e Z//"f,,f &‘ﬁ"é 2 99

£1942 (A)
+1943 (B)

(
(
+1940 (C)
+1944 (D)
S ufJuM U u(”(u/bﬁu”aﬂgm ot b 100
sIneL (A)
s INCA(B)

¢Ined (C)

s IAA. (D)

-30- 07



T ®E o foe e
Space for Rough Work

-31-

07



@@;@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@%
9 ﬁ DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.
@

3 Question Booklet
@ Subject Code : 07

@

3 Subject : Urdu

@

9

@ Roll No. (In Figures) :

@

@

g Roll No. (In Words) :

@

g Signature Signature
@ of Candidate of Invigilator
@

g Time : 2 Hours Maximum Marks : 200

INSTRUCTIONS FOR CANDIDATES

1. There are two Parts in this Question Booklet. The first part of which contains a total of 30 questions related to General
Knowledge.
There are a total of 70 questions related to the optional subject in the second part of this Question Booklet.

3. There are 100 question items given in this Question Booklet. Each question item is printed in both Hindi and English.
Four options are given for each question. Choose one of these options which you want to mark on the Answer Sheet.
If you feel that more than one option is correct, then mark the option which you think is best. Only one option has to
be chosen for each question item.

4. Immediately after the commencement of the examination, you must check the Question Booklet to ensure
that there are no unprinted, torn or missing pages or question parts etc. in it.

5. Candidates should open the seal of the Question Booklet only after being instructed by the Room Invigilator.

6. Before answering on the Answer Sheet (OMR Sheet), the candidate should carefully read all the instructions in the
Question Booklet and Answer Sheet.

7. The candidate must write his/her roll number, subject, correct question paper code, number of answered questions
and number of unanswered questions neatly on the Answer Sheet (OMR Sheet), otherwise the Answer Sheet will
not be evaluated and the entire responsibility will be of the candidate himself/herself.

8. The candidate has to darken only one circle or bubble indicating the correct answer on the OMR sheet using
black ball point pen only. If more than one answers are marked, it would be treated as wrong answer and it will not
be evaluated.

9. Once answer is marked in the Answer Sheet (OMR Sheet), no change is permitted.

10. Candidate should not fold the Answer Sheet (OMR Sheet).

11. You are to mark your answers on Answer Sheet (OMR Sheet) only. When the examination is over, handover the
Answer Sheet (OMR Sheet) to the Room Invigilator.

12. In case of any discrepancy between the Hindi and English versions, English version will be taken as final.

13. If any candidate uses or attempts to use unfair means or creates any disturbance in the examination hall, he/she will
be disqualified from the examination.

14. No candidate will leave the examination hall until 120 minutes (two hours) are completed.

15. Rough work, if any, should be done on the blank sheets prescribed for this purpose only. No extra sheets will be
provided.

16. Use only black ball point pen for writing your roll number etc. and for filling in the answers on the Answer Sheet
(OMR Sheet).

DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.
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